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Answer any five questions
AII questions carry equal marks

Derjve an expression for the rise tin-ie of the output of a low-pass circuit excited by

a step input.
Derive an expression for the output of a high-pass circuit excited by a square input.
Why RC circuits are commonly used compared to RL circuits? [5+5+5]

Druw Ihe basie t'ilerrit diagrarn ol'necutive pcak clrtrtrPct't'it'cuit and exPlain its

operation.
What are the clipping circLrits? And explain about the shunt clippers rn detail.
What is meant by comparator and explain diode differentiator cornparator.[5+5+5]

Write a,short note on switctting times of a ffalrsistor :

Draw and Explain the piece-wise linear characteristics ol'a diode.
Discuss the breakdown voltage considerations and saturation parameters of
transistor. [5+5+-5]

Design a Schrr-ritt trigger circuit NPN silicon transistors to meet the tollowing
specific;ations. V..-= l0V, UTP = 3.5V,,.L[P = 1.7 V, h1" = 50, IC2 = 3 prA. Use

relevant 6ssumptions and ihe empirical relatioirships.
Explain with the help of a neat circuit diagram the principle of operation of a

monostatrle multivibrator, and derive an expression for pulse width. [8+7]

With the heip of a neat circuit diagriim and. waveforms. explain the working of a

transistor bootstrap time base ge ne l'ittrI'.
Derive the relation between va-rious crrors ol'swcep cirt'ttits. [8+7 |

What is pedestal? What are the effects of it in sarnpling gates'l

With help of a neat diagram, explain the working of bidirectional gates using

7.a) With the help of neat waveforms, explain frequency division with a sweep circuit.
b) Explain the principle of synchronization in sweep circuits and describe how

frequency division synchronization is done in Astable relaxation circuits with help

of neat diagram. [7+8]

Why a OR'-eare is called.mixing circuit?'Dtaw a diode OR.cir'cuit fbr positive l-ogic

and explain how it rvorks.

b) Why totem pole is used in DTL? Draw the circuit diagram and explain a DTL gate

with this. [7+8]
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